ID:1210 P- 1

P e SR
F E 5 B O#E 5 B gl Rk
L SFI064£07 H13H ETEREL 85 kv (Biir)
ih A PE Hi wmH | Wkoe | A =g EfE e g1
X R AbifEE 10. 00| FH%f 414 4,140| 1,242 1,197 950
EPN S 5 & 10. 00| FAxF 559 5,590 2,160 2,090 1, 296
H ¥ £ ¥ 15. 00| fHxf 947 14,205 1,512 1,190 994
X H D BB 10. 00| FH%f 400 4, 000 1,156 1,104 950
1E O NAE £ % 4. 00| FH*} 40 160 4,320 4,298 3,780
H % =Y 3. 00| fHx} 371 1,113 1, 458 1, 363 972
B A [ 1. 00| B} 175 175 1,080 807 270
& )l | 500 fE%f| | 50| 2,700| 2,506 2,376
AN w5 5. 00| FH*} 141 705 2,484| 2,113| 1,512
N A 0.40| f%f|  440] 176|167 147 97
LE L =g 4. 00| FHx} 604 2,416 1,728| 1,471 648
[ I\ % 5. 00| fHx} 42 2101 2,376 1,918 1, 296
= | 5.00| 4%k | 483] 9,415 2,376| 2,048| 1,242
v— =g 0. 15| FHx} 300 46 92 87 86
N7 k= R AbifEE 3. 00| FH*} 221 663| 2,592 2,358| 2,052
ot AbifEE 0. 10| FHxf 80 8 184
H 7% w5 5. 00| FH*} 170 850 2,700| 2,357 2,160
SR e 2 B I 10. 00| #H %t 45 450 1,944
A= 4 £ IR 10. 00| AHxf 64 640 2,484
£ A L JE 10. 00| AHxf 740 7,400 2,160 1,790 1,296
L ¥R E % 10. 00| AHxf 590 5,900/ 1,728 1, 404
P=—1rF R £ ¥ 4. 00| FHx*} 470 1,880 1,728 864
+Lxon A 4. 00| FHx*} 9 36 3, 240
AEHEE w5 0.10| #Hxf | 3,500 350 157 95 32
ZDXH E ¥ 0. 20| FHx*} 1, 500 300 54 37 32
LU B 5t 0. 20| FHx} 150 30 70




ID:1210 p- 2

P e SR
F E 5 B O#E 5 B gl Rk
R SFI064£07 H13H 5| v (g 46 k> (Biir)
ih A PE wmH | Wkoe | Ak Sy e il e g1

PE i % 5. 00| fHx} 584 2,920 3,024 2,912
EEAT 200 A% | e8] 072|  4,147| 3,611 3,318
FI0 T X B 0. 30| FH*} 1, 064 320 389 337 302
a5 [ A 0. 50 | FHx} 704 352 432 418 378
2RI el 16. 00| FH%f 1, 448 23,168| 4,536| 3,632 1, 620
B M | 15.50| Fkf| 525 8,141 5,400 4,848 2,700
/NETE R “o 10. 00| FH%f 40 400| 3,240 2,238 1,620




